Alg 2 Final Exam Review with solutions.notebook December 14, 2010

Name Period Date
AlgebraIl CP St
2009 - 2010 1" Semester Practice Final Exam
Benchmarks1,2, 3,4, &5
Standads: Chapters: 1, 2, 1,5, & 6
Tachruchons:

Be swre tojustify each of your ansvers. Take your time. There are 50 questions all equivalent in wlave. Be sure to bubble in your
responises o the aswer docwnent Instructions are i hol and key terres ate in bold ftalie. Vouhawe the entre period to Andsh this
exam. The goal is not to see who can fimsh first, but rathsr who can sswer more questions careclly Chances are the one who
finishes fi-st gets the most wrong, . hahaha
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Stard and 3. q : Which of the following steps represents a correct step usedto determine the solution
of the squation {52 1] —-3=17

5 G- h 457 1 ((;: )33()3 7 52 - 64®
c. |

e D7) =42
i 6 T s o
e B X+ .',-@
. ‘*H
lj?é "l'-i:;l:

12 1z ’ 3
Standard 7. _& Ident1f‘ the p- 1ntercep;2d +he axis of symmeny for the graph of F(x1 =32 +6x@

-int
D. 12 r=-1 @
Standard 8. ; i Which expression is eguivalent to the expression (6y° —w
F. 3650 -4 3473-1']2\’ ‘2\) L}

G 36y -4
H 265 +1207 + 12y -4
36y* +12y% 12y -4

5 tandard 9. c Solve -he compound inequality — 2 <4z +10 =12
- “lo = |0

A {eF3<z=2)

B. {z|—3~:253;} - ’z< q 2_ Z. Z
55 i

D, {z__ﬂzs_} _ '
S<E <3

]
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Stard ard 10, é Determine the ggais of the function fix) = P4tz , ‘1 - ‘ ?'3

F. —land 1 = -2—4121"'""}—
@_;if—z -"l _24-1&
RENv X ._-2_‘."1\2 = ==

2
2 2 _——'if;

Standand 11. D Determine whether the fanction f{x)==5x> —10x +§ has a maximum or a y
o MGX ka-x(-'l’\\ p
&, OTIIoT, H -h -'9_ - 1
' 24~ 9.<- Me X A
=S¢ 10Dk 1
5 lasalanl 12. Q Which gquadialic equalion has reeds 7 aud — % 7
X423+ 14=10 (x - ‘+ E -
3xt—19x-14=0
Ho 2x'-11x-21=0 (X - \L-I-‘Z_):O

J 2x'+11x-21=0

minimom value end then determine thatfralue.

Standard IS.DSimp]ify. Txl -2t 34 - -3
SiE IR

A 7x-3-2 (3
B3 ) 2% J,_\,.LL: ~[%

O v
Stamdard 14._1j_Simph'fy. (5x—4@ 6\’
(Sx-QUSxA)

F. 25x° -16

G e QX _20x-L0xtlb
w/

J 25z —18x+16
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v B gy 5)=(x-3)

2 Wy
A 6x2—l2x+3—3x9_2 (ax3__lsﬁ-y '.,s—x 3

2%t gl o
3x-2

. 22 —dx+1- !

Ir—2

a
D i 4Ex-3-——
3x-2

2f>o B2
—
. , . 27t -+ 3- v% .
Standard 16, %Smnhfy the expression : . Assume that noYariable
* 2 -"" ]
4

S tandad olve he system of linear equations tc the right. +r+z=
lx +y—4dz=-15
i (_1,3,4) &x—3y+ =-1
: -|+342=b ¢
o 437 =6
Imaginary

1=+—1, which point shows el;atq)n

of S04 the slane?
o1
oin

oint €  BAIEEERT — Real
D :

Oree:
Erorcnd
| 1

XIS bX +5H=21
2axEiIy =Sas 010X~ N =275

b-5N=, 17p X
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Standad 19.

Solve -he absolute mequalltyr S —4 ::- [ > < d

B
Al - 2
{mwzorm»s} jm~‘||>2 m*q<?. "‘+'~'.7ﬂ

C. '[mlmdor m= 7] ——
D, All real numbers _/\4. M<2 o “)b

Stamdam 0. g SBolve -he inequality — 3 :r -1 1}+15 =9
-3 +3‘s+| s29

~3r+ 4821
“ye -9e L
-13} - §\P = '..j 3

— X's
D.  All Eeal Mumbers ( ) o)
Stmded 22, LEvaluate f(—glf Fin =[x -1 €~ ?Wﬂj AMV\ WQ“SV]&(”
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Standawd 21.

Stard and Write an equation in slepe-tercept forme for the line that haz a slope of 3 and

passes through (— 1, 2).
’). 3x+3
Ay=z-1 M= ‘("".2.) Y 2

B. »=3s-5

y=sz+3 Y=Y, =M (*“l) = 3% +g
y=3x+5 Y~ Z'a I(K=~I y

5 tandard 24. h of the line through (2 3 tha iz perpendic to the line with equation

@ 80 ZOES
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Standad 25, !k Suppose the first equation of the linear system 15 multiplied by 2. a !'5?-’ -5y = 21%

By whal nuinber should the second egaalion be mulliplied 1o dzx+Ty=15
eliminate the variable x by adding ¥

’ '2! "lbfqu T
c § +-]2X ma Mt by—3

D.

S tandand 26. i Which expression represents the wolume of the Bigure to the right?

F. x* +10x* +34x 424 V:..z'\N'll\ )C )
G)ﬁ 11x? +34x - 24 -7 ?\ .
H. x3113x2:—-24x+24 V= (K"‘Q)(-H X+b

I 411 245 -24 :(X"-i- XAdR+4) (X
Vs (CH5%% N e
Shwsd 27, Lqur completely. 255" —~40m+16y"  |\f= X}‘\‘SXI +..\*-y‘x‘+30}‘n
S 2 S-S-XX - Q’qn = x3 + ‘\ x1+gq N -I-Z"'
-0 (Sx—44y)(Sx-H

C. X5x-4y)°
D. (Sx+10-4y°

Stwizd 28, é_lt‘ r(xt=4x% - 3347, find :{322}_ l.l. (3“ 2)7._ 3(362') 4,7

F. 12@1—9@21? Y (3
S =4(9a)-qa +T

I 144a* -9a% +7 y 2
8 - 36& - qé f‘7
& tandad 29. Wf real gerps for the function whose 4

graph .3 shown to the right. !

n
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BT

_l VOQ\-
2 vosts Rl 'Twa&m\-s

R9ed. vagks Yaak 6
© ave (eally 2.\1'\“'\\"‘“‘1"“"‘-
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S tandand 30. E Suppose the equation x° —18x = —10€ is to be salved bylcamplefing the square.

“Which equation represents one of the steps in determining the selution?

9=15 - -‘bb‘\'c C 13 )8'
@(;:—9}_21125 Xtd‘g’i“ﬁ“lobbfl ( ) b

H x'—13x+106=0
J P -18x+81=-106

(xx_qq) :-25) X-9= 350

Stardard 31. ‘ Factor completely. iﬁ??x -1 d'(‘; .—f c“bcs
A il -l (‘B,no)( Trwo )
B. (3x- 1( 2;(3;3(1] one —
e P
Stmdud | 32.

Write an equation for the parabola whose vertex is at (— 3, 7) and paszes

through (-3, - 1). (= =3 ‘I"" hz-5 R=7
o ?

F. y=‘-_l1.(x+5] +7 bE a (X ‘l"\ *k \r a{x*s)*-’
®y=_g{x+5}°+7 - l < a,cs--S) \/_ 2(x -‘-S)"'?

H y=-2{zx+5"+7

~? a-(4)
1

XF—_(@”' -¥ - qZ-Z.
Standurd 33< Which quadratic E1nrnn1:¢r werte: t(—?‘.)an

=) ] = —4F
o
@) :-( 32]2 5 sisk s

D. j:-[¥-3}’*+5 \I = —(X"'z) +§

A restaurant manager bought 20 packeges of bagsls.
bagels each, and -he rest contained 12 b

Standad 4.

Some packages contained £

els each. There were 168 bagels in all.
t £ manager

: W
<A

aw many packzgesz o agels

F.
G.
H.

o N=? ? 8Paclzagw
XEYZ20  —uf-tyanrto 12 Bad
: ; ¥ 1Ry = IbE

OX+12Y:1b¥ RO

AERS
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Stardard 35 C Find the slepe of the line that passes through (1, 3) and (— 7 8).

Y‘I.-y' X| v) xz "lo

>
h| oolL.n il La .x.||:
=z =
" "
|
W
h
lm

o

2 4
3 x3 +IxX =Tx+ ¥ o7
Stardard 36, Determine the quetient using leng division. 2x+? 2xt +21x +3"xz—3 x+46
F. 2472 —Trt 6 —o "'35" 1
2x4+7 —
3 2 _
G. 2x" +14x° —1dx+12 o s ' g " -lq .37’
4 = =204 = -
51‘3?;2 +Tx— G+ i .3_3 g % 3 212 - "" -

4 — — fl?.‘l 'f"'“'
PP I e l2x+492
¥ 4

2Tt T+ 64+

37, iz Tenny is solving the equation x° —8x=9 by completing the sguare. What number
shonld he added to both sides of the equation o omplete the smare
A
B

. Xz-&aHQ -9 sc

CLEyu4y= 10

Sandaud 38, 6 Identify thg remgzpf’ vy =3z +2| a ")
E—J )
S Ve

- A
D-?_'Eﬁ.' lAV\"’"
(e Ly =0} ‘v

H (p=z-21

J.  All Eeal Numbers

Standad

] ange.

£ tandard 9. _‘D Name the set(s) cf numbers to which — 28 belongs.

'l‘ s ] ! )
E ntegers, and Reals 2 g J ‘ {\ N
Integers and Rationals M\“'N
R«’h &

Integers Eationas, and Reals
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S tandard 40, i Solve the syatem by su\bmmﬂan7
Fy-b)+2y=
F. Es 13 ]32(" \B""b{— -'
®ip Ml
7714 &_ +28 Y -
T

Stadard 41, C- N\~ TWhich iz the gragh of y——2(x e - 1

[l (y Y

~N
5
x X

r
B. :ﬁ— T 13. IEERAREL LILd
] *:: NN T

1 T

i

T
H

!

S tandawd 42. ﬂ Find I:h‘ -irttercept and the y-infercepifof the graph of v = %.@

Two d.I-‘ P°"‘h - -b
y Pt b ?
\’gﬁo (YD,Ob)

o 10.-%

) P+ —.-Dw?
"Whah the slepe of the line that iz paredle Il)the graph of 2x+3y=146
A -2 Same S|ape ==~

- AX4RN =6

o 2 m2X 2%

- Ty~ %4

D 2 %‘_ 2_;& %_
\’-‘-'31!-2,

A -2
B3
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5 tandard 44, l Find the equation of the line through the point (-6, 3} and
to the ine with the equation ¥ =3x -3 ‘ ms avre

1 =3 m= S “\'N
@ r=-ltn M 3
¢ y'ﬁ*” m - ’i Y=Y= '“9«"—’@ m?upfo
H —x 1 '("('13 y—%- (x--b)
Y3 X 52

V-- X #

45 TWhich system of inear equatiens i3 graphe ry T

;;m s
y - x+3 A w— )——1:+3
%_".%,{ +6 ‘ 3x+4y—f12 * % N 3 l
—3x+2ys b N/
31-2\13'0 B. m v y %4 - i
vy :,:.—x-! y=—£x—3 v y% -;j
4

J y:%r—l

o
o

L

£

i\
qz_' -Sx ~12 ¥
3w 43x
I+ =-12
Standard 465, !s “Which system of inear inegualifies 15 graphed? e l_
7 7 Y
A ysq—x—ﬁ C. yzzx—ﬁ ’) I‘
=
7 Y - P
-5 b e
v i X
+X
¥

10
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S tandard C For awedding, Fabiola bought several dozen roses and several dozen l:a.matmns
The roses cost $15 per dozen, and the carnations cost §8p
atotal of 17 dozen flowers and paid a total of $192,

A 6dozen I +C = (7 Eulm\'-mc

T dozen -
ésmm 15T ¥+ 8¢ = 192 7":
D 9dozen_g — ?c' = |36 r'-— gl
S tandad 48._15:'--.1’_1 whatlsthcvaheof' 7 b b . !
G D " V= ()L L)L
H 1 - l L

J -1 .
-_—
= ¢
Standand 49, The total area of a rectangle 1s 4x* — 9y?  Which factors could represent the

length times the width of the rectan ée'?

®(2x ~3y)(2x" +3y) QAX-X 3'3 Y'Y
X(Zx‘+3y)(2x +3y) (dX"‘ \ (ax —_— )

P (25 =3y)(2x - 3y)
| A +3)2x-3)

Standard 50. j Which of the following most accurately describes the frenslation of the graph

‘ (z+3§—2 toﬂicgraphof: =(x— 2)’+2
éﬂg 4 units a.ndto the Right 5 units

G Down 2 units and to the Right 2 units
H Down 2 units and to the left 3 units
J Up 4 units and to the left 5 units o

11
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